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D-7021

M.Com. (IInd Semester) Examination, 2020

BUSINESS ECONOMICS

Time Allowed : Three Hours

Maximum Marks : 70

KeC[ - De

SECTION - A

veesš : efkeâvneR ome ØeMveeW keâe Gòej efueefKeS~ ØelÙeskeâ ØeMve kesâ Skeâ Debkeâ

nQ~ 1×10=10

Note : Attempt any ten questions. Each question carries

one mark.

Q. 1. (De) efjòeâ mLeeveeW keâer hetefle& keâerefpeS :

Fill in the blanks :

(1) heefjJele&veMeerue Devegheele kesâ efveÙece keâer leermejer

DeJemLee ceW meerceevle Glheeove ......... neslee nw~
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In the third stage of law of variable

proportion the marginal production

becomes _____.

(2) Deewmele ueeiele Je›eâ keâe {eue meowJe ......... keâer

Deesj peelee nw~

The slope of average cost curve always

_____.

(3) hetCe& ØeefleÙeesefielee kesâ Debleie&le meerceevle Deeiece meowJe

keâercele ......... nesleer nw~

Under perfect competition marginal

revenue is always _____ price.

(4) DehetCe& ØeefleÙeesefielee keâe efJeÛeej ......... ves Øemlegle

efkeâÙee Lee~
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(3) (4)

The concept of imperfect competition

was introduced by _____.

(5) Megcheeršj kesâ Devegmeej JÙeeheej Ûe›eâ keâer ØeLece

DeJemLee ......... nw~

According to Schumpeter the first

phase of Business Cycle is _____.

(ye) mener efJekeâuhe ÛegefveS :

Choose the correct alternative :

(6) hewceeves kesâ yeÌ{les ngÙes ØeefleHeâue kesâ ueeiet nesves keâe

ØecegKe keâejCe nw :

(De) hetBpeer mebheefòe kesâ Deekeâej ceW Je=efæ

(ye) DeefJeYeepÙelee

(me) efJeefMeef°keâjCe

(o) Ghejesòeâ meYeer

The principal cause of application of law

of increasing return to scale is :

(a) Increase in plant size

(b) Indivisibility

(c) Specialization

(d) All of above

(7) heefjJele&veMeerue Devegheele kesâ efveÙece keâer efÉleerÙe

DeJemLee ceW (Iešles ngÙes ØeefleHeâue keâer DeJemLee) :

(De) Deewmele Glheeo SJeb meerceevle Glheeo meceeve

nesles nQ

(ye) Deewmele Glheeo meerceevle mes DeefOekeâ neslee nw

(me) Deewmele Glheeo meerceevle Glheeo mes keâce neslee nw

(o) Ghejesòeâ ceW mes keâesF& veneR



(5) (6)
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In second stage of law of variable

proportion (Law of decreasing return) :

(a) AP = MP

(b) AP > MP

(c) AP < MP

(d) None of above

(8) SkeâeefOeke=âle ØeefleÙeesefielee kesâ Debleie&le Heâce& keâe ueeYe

DeefOekeâlece neslee nw, peneB :

(De) AR = AC

(ye) AR – AC DeefOekeâlece neslee nw

(me) MR = MC

(o) AR = MR

The profit of the firm under monopolistic

competition is maximum where :

(a) AR = AC

(b) AR – AC is maximum

(c) MR = MC

(d) AR = MR

(9) hetCe& ØeefleÙeesefielee kesâ Debleie&le, Deuhekeâeue ceW, Skeâ

Heâce& :

(De) meeceevÙe ueeYe Dee|pele keâjleer nw

(ye) DemeeceevÙe ueeYe Deefpe&le keâjleer nw

(me) neefve Jenve keâjleer nw

(o) Ghejesòeâ ceW mes keâesF& Yeer

Under perfect competition, in short run,

a firm may be :

(a) Earning only normal profit

(b) Earning abnormal profit



(7)

(c) Incurring loss

(d) Any of these

(10) ‘‘JÙeeheej Ûe›eâ Skeâ Megæ ceewefõkeâ Iešvee nw~’’ Ùen

keâLeve nw :

(De) nsÙekeâ

(ye) neš^s

(me) keâervme

(o) Ghejesòeâ ceW mes keâesF& veneR

"Trade cycle is a purely monetary

phenomenon." This statement belongs to :

(a) Hayek

(b) Hawtrey

(c) Keynes

(d) None of above

(11) efvecve ceW mes keâewve-mee cegõe mHeâerefle keâe Skeâ keâejCe

nw :

(De) Ieešs keâer DeLe&JÙeJemLee

(ye) yee¢e $e+CeeW ceW Je=efæ

(me) Yegieleeve keâe Øeefleketâue Mes<e

(o) kesâvõerÙe yeQkeâ Éeje vekeâo jef#ele Devegheele

(CRR) keâes yeÌ{eÙee peevee

Which among the following is a cause

of inflation :

(a) Deficit financing

(b) Rise in external loans

(c) Unfavorable balance of payment

(d) A hike in the CRR by the central

bank

(8)
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(9) (10)

(12) ueeiele Øesefjle mHeâerefle efvecve kesâ keâejCe Glhevve nesleer

nw :

(De) cepeotjer keâer ojeW ceW Je=efæ

(ye) ueeYe keâer ojeW ceW Je=efæ

(me) (De) SJeb (ye) oesveeW

(o) Meemeve keâer DeØeYeeJeer veerefleÙeeB

Cost push inflation occurs because of :

(a) Increase in rate of wages

(b) Increase in rate of profit

(c) Both (a) and (b)

(d) Ineffective policies of the Govt.

KeC[ - ye

SECTION - B

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeÙes~ ØelÙeskeâ ØeMve kesâ efueÙes 2

Debkeâ nQ~ 2×5=10

Note : Attempt any five questions. Each question carries

two marks.

Q. 2. Deefle ueIeg GòejerÙe ØeMve (25 mes 30 Meyo) :

Very short answer type question (25-30 words) :

(1) hewceeves kesâ Iešles ØeefleHeâue mes keäÙee DeeMeÙe nw ?

What is meant by decreasing return to scale ?

(2) ceewefõkeâ ueeiele keäÙee nw ?

What is money cost ?

(3) keâercele efJeYeso keâes heefjYeeef<ele keâerefpeÙes~

Define price discrimination.

(4) nmleeblejCe cetuÙe keäÙee nw ?

What is transfer price ?

(5) yengGösMeerÙe Heâce& keäÙee nw ?

What is multiple firm ?
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(11) (12)

(6) JÙeeheej Ûe›eâ kesâ ceveesJew%eeefvekeâ efmeæevle kesâ Øeefleheeokeâ

keâewve nQ ?

Who is the founder of Psychological Theory

of Trade Circle ?

(7) cegõe mHeâerefle efkeâmes keânles nQ ?

What is Money Inflation ?

KeC[ - me

SECTION - C

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeÙes~ ØelÙeskeâ ØeMve kesâ 4 Debkeâ

nQ~ 4×5=20

Note : Attempt any five questions. Each question carries

4 marks.

Q. 3. ueIeg GòejerÙe ØeMve (250 Meyo) :

Short answer type question (250 words) :

(1) Deuhekeâeueerve ueeiele Heâueve keäÙee nw ?

What is short run cost function ?

(2) heefjJele&veMeerue Devegheele kesâ efveÙece mes keäÙee DeeMeÙe nw ?

What is meant by law of variable proportion ?

(3) efye›eâer keâer cee$ee kesâ DeeOeej hej yeepeej keâe JeieeakeâjCe

keâerefpeÙes~

Classify the market on the basis of quantity

of sale.

(4) ueeiele Oeve efJeefOe keâes mecePeeFÙes~

Explain the "Method of Cost Plus Pricing".

(5) hetCe& ØeefleÙeesefielee leLee DehetCe& ØeefleÙeesefielee ceW Deblej

yeleeFÙes~

Explain the difference between perfect

competition and imperfect competition.
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(13) (14)

(6) keäÙee SkeâeefOekeâejer cetuÙe meowJe mheOee&lcekeâ cetuÙe mes TBÛee

neslee nw ?

Is monopoly price always higher than

competitive price ?

(7) JÙeeheej Ûe›eâ ceW lespeer keâer efmLeefle keâes mhe° keâerefpeÙes~

Clarify the boom phase in trade cycle.

KeC[ - o

SECTION - D

veesš : efkeâvneR leerve ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve kesâ 10 Debkeâ

nQ~ 10×3=30

Note : Attempt any three questions. Each question

carries 10 marks.

Q. 4. oerIe& GòejerÙe ØeMve (500 MeyoeW mes DeefOekeâ) :

Essay types question (more than 500 words) :

(1) hewceeves kesâ ØeefleHeâue kesâ efJeÛeejOeeje mes Deehe keäÙee mecePeles

nQ ? hewceeves kesâ yeÌ{les ngS ØeefleHeâue SJeb hewceeves kesâ efmLej

ØeefleHeâue keâes mecePeeFS~

What do you understand by the concept of

return to scale ? Explain increasing returns

to scale and constant return to scale.

(2) hetCe& ØeefleÙeesefielee keâer DeJeOeejCee mhe° keâerefpeÙes~

Deuhekeâeue SJeb oerIe&keâeue ceW mevlegueve kewâmes Øeehle efkeâÙee

peelee nw ?

Explain the term "Perfect Competition". How

equilibrium is attained in both short and long

period.
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(15)

(3) ‘JÙeeheej Ûe›eâ Skeâ efJeMegæ ceewefõkeâ Iešvee nw~’ mecePeeFÙes~

'Trade cycles is a purely monetary

phenomenon.' Explain.

(4) ceeBie-Øesefjle mHeâerefle leLee ueeiele-Øesefjle mHeâerefle ceW Devlej

mhe° keâerefpeÙes~ keäÙee Ùen lelJe cegõe mHeâerefle hej Deueie-

Deueie ØeYeeJe [eueles nQ~

Distinguish between demand-pull inflation

and cost-pull inflation. Do these factors exert

their pressure on inflation independently ?

——


